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Estimating is the technique of computing the various quantities and the expected

expenditure to be incurred on a particular work or project.

In case the funds are less than the estimated cost, the work is done in partially or
by reducing it or specifications are altered, the following requirement are necessary
for preparing an estimate.

a ) Drawings like plans, elevations and sections of important points.
b) Detailed specifications about workmanship & properties of materials etc.
c) Standard schedule of rates of the current year.

NEED FOR ESTIMATION AND COSTING:
1. Estimate gives an idea of the cost of the work and hence its feasibility can be
determined i.e. whether the project could be taken up with in the funds available
2. Estimate gives an idea of time required for the completion of the work.
3. Estimate is required to invite the tenders and to arrange contract.
4. Estimate is also required to control the expenditure during the execution of work.

5. Estimate decides whether the proposed plan matches the funds available or not.
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Example: A building with dimensions of 20 m X 35 m had been finished,
the total cost was 400,000 S, the building contains basement, three
floors, and roof; Calculate the value of cost/m2 according to the

following assumptions:

a- Floors, basement, and roof were equals in cost
b- The cost of basement was 60% of the cost of each floor and the
cost of roof was 40% of the cost of each floor.

Sol.

a-
Part of Area m’
building
Basement 700
Ground floor 700
First floor 700
Second floor 700
Roof 700
Total 3500

Cost /m2= 400000/3500= 114.295/m?

b-
Part of Area (m?)
building
Basement 0.6*700=420
Ground floor 700
First floor 700
Second floor 700
Roof 0.4*700=280
Total 2800

Cost/ m? (for floors)= 400000/ 2800= 142.86 $/ m?



Cost/ m? (for basement)= 0.6* 400000/ 2800= 85.71 $/ m?
Cost/ m” (for roof)= 0.4* 400000/ 2800= 57.14 $/ m
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Example: A building with dimensions 40m X 60m was executed, the
building contains basement and three floors, the height of basement is
2.8 m and the height of each floor is 3m, the total cost was 550000 S,
calculate the value of cost/ m® according to the following assumptions:
a- All of basement and floors was equal in cost.

b- The cubic meter cost of basement was 60% of the cost of each floor.

Part of Volume m®
building
Basement 40*60*2.8=6720
Ground floor | 40*60*3=7200

First floor 7200
Second floor 7200
Total 28320

Cubic meter cost= 550000/28320= 19.42 $/m>



Part of Volume m?
building
Basement 0.6*40*60*2.8=4032
Ground floor | 40*60*3=7200

First floor 7200
Second floor 7200
Total 25632

Cost/m’ (floor)= 550000/ 25632=21.46 S/ m>
Cost/m’ (basement)= 0.6*550000/ 25632= 12.87 $/ m?
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Time Factor : This factor relates to inflation and used to modify

the cost from previous time to current time (the time needed to the

project) and it always positive.



Time factor can be determined from the following formula:
F=(1+i)"-1

F= Time Factor.

I = increasing in inflation.

n= time period in years between previous and current project.

2004 2005 2006 2007 2011 2012 2013

i
L

n=727

Example: Estimate approximately the cost of a new building to be
executed in not crowded area, the building will contain four floors,
the ground, first, and third floor with dimensions of 20X25 m and
other floor with dimension of 20X20m, project start time must be in
the middle of 2016 and end time not more than end of 2018, the
cost of third floor was expected as 90% of the cost of ground floor
and the cost of roof as 30% of the cost of ground floor, the
estimate can be based on a building was executed with the

following information:

Number of floors 5 floors (ground +4 floors)

Dimensions 20X17 m for second and third floor and

20X20 m for ground, first, and fourth floor




Time period

Start time was 1/1/ 2010
End time was 31/12/2012

Overall Cost 1,000,000 $
Additional 1- The building was executed in
information crowded area and there were

contractual facilities
2- The cost of ground floor was 120% of
the cost of other floors.

3- The cost of the roof was 30% of the

cost of other floors

Assume the effect of crowded area on the cost is 12% and the

contractual facilities is 5%

Take inflation percent=4%

Sol:
Fourth
Third Third 20X17
Second 20X20 Second
First First
25X20 20X20
Ground Ground
New building Old building
0.5
<+
3 years
2010 | 2011 | 2012 2016 | 2017 | 2018

n= (3/2) + 3+ 0.5 + (2.5/2) = 6.25




Old building New building Price %

Crowded area Not crowded area -12%

Contractual facilities | No contractual + 5%
facilities

Time factor= (1+0.04)%% -1 +27.78 %

Total +20.78 %

For old building:

Area of ground floor= 20X20X1.2= 480 m?

Area of (first floor + fourth floor) = 20X20X2= 800 m?
Area of (second floor + third floor) = 17X20X2= 680 m?
Area of roof = 0.3 X20X20= 120 m?

Total area = 2080 m?

Cost /m? = 1000000/2080= 480.77%/ m*

For new building:

Cost/ m* = 1.2078 X 480.77= 580.67 $/ m*

Area of ground floor = 25X20=500 m?

Area of first floor = 25X20=500 m?

Area of second floor = 20X20=400 m?

Area of third floor = 0.9X25X20=450 m?

Area of roof = 0.3X25X20=150 m?

Total area= 2000 m?

Total approximately cost = 580.67 X 2000= 1,161,340 $




